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Environmental Science Math Review Questions ‘/B\i

1. In 2007 in the US there were approximately 480 cars for every 1,000 people. The total number of
cars inthe US in 2007 was __.
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2. Ahome uses ten 100 watt light bulbs for five hours per day. Approximately how many kilowatt
hours of electrical energy are consumed in one year by using the light bulbs?
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3. Ifthe annual consumption of petroleum in the US is about 23 barrels per capita, the total annual
consumption of petroleum in the US is . 355uMme ‘300M\\\im \%Pu\a'\'mm 23’5\"\
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4. The combustion of one gallon of automobile fuel produces about 5 pounds of carbon (in C0O;). Two
autos are making a trip of 600 miles. The first auto gets 20 miles per gallon, and the second gets 30
miles per gallon. Approximately how much LESS carbon will be produced by the second auto on
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5. Uranium-235 has a half-life of 710 million years. It is determined that a certain amount of stored
U-235 will be considered safe only when its radioactivity has dropped to 0.10% of the original
level, approximately how much time must the U-235 be stored securely to be safe?
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6. The half-life of radon gas is approximately four days. Four weeks after the introduction of radon
into a sealed room, the fraction of the original amount remaining Is .
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7. Ifa country has a crude birth rate of 24 per 1,000 and a crude death rate of 8 per 1,000, the
natural annual percent increase of its population is .
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8. What is the population doubling time in years for a country with an annual growth rate of 3.5%?
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9. Ifacity of population 10,000 experiences 100 births, 40 deaths, 10 immigrants, and 30 emigrants

in the course of a year, what is its new annual percentage growth rate?
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10. The current global human population is about 6.1 billion and is growing at an annual rate of
1.35%. If world population were to grow at this rate for the next year, approximately how many

people would be added? += Himesyou consder
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11.If the population of a country grows at a rate of approximately 5% per year, the number of years
required for the population to double is closest to__
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12. The net annual primary productivity of a particular wetland ecosystem is found to be 8,000
kcal/m? per year. If respiration by the aquatic producers is 12,000 kcal/m? per year, what is the
gross annual primary productivity for this ecosystem, in kcal/m? per year?
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